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I、字彙；請依每句的文意選出最適當的答案。
1. President Obama voiced support for a ______ that would allow Congress to approve the money for veterans’ medical care one year in advance.
(A) measure

(B) meddle

(C) melt


(D) menace
2. The Health and Medical Care Archive (HMCA) preserves and ______ data collected by research projects funded by the Robert Wood Johnson Foundation.
(A) assimilates
(B) assumes

(C) dissembles
(D) disseminates
3. Information Engineering Methodology is an architectural approach to planning, analyzing, designing, and ______ applications within an enterprise.
(A) implanting
(B) implementing
(C) imploring
(D) implying
4. Optical fiber is the dominant medium for long distance high-______ transmission systems.
(A) capacity

(B) capability
(C) capillarity
(D) captivity

5. Animal biotechnology could have dramatic, positive ______ on human health and agriculture.
(A) contacts

(B) distracts
 
(C) impacts

(D) retracts
6. We are living in the midst of a genetic revolution, which could well mean made-to-order babies or the creation of spare organs for ______.
(A) transit

(B) transmit

(C) transplant
(D) transport
7. The development of the Channel Tunnel, or Chunnel, is expected to ______ the air traffic between England and France. 

(A) aggravate

(B) agitate

(C) alleviate

(D) allocate
8. In many countries, valuable items should be entered on your customs ______ .

(A) acknowledgment
(B) confession
(C) declaration
(D) recognition
9. The simplest way to visit the Aegean Islands is on a ______ , lasting from one to ten days.

(A) cruise

(B) cruller

(C) crusade

(D) crusader
10. The Italian mail system is ______ erratic and excruciatingly slow.

(A) famously

(B) notoriously
(C) reputably 
(D) reliably

II、語法：請依每句的語法選出最適當的答案。
11. The growing movement to eat locally ______ food attracts most people because it's good for the planet.
(A) grow

(B) to grow

 (C) growing
  (D) grown
12. Madrid has more than 18,000 taxis, and the fares are low ______ New York or London standards.

(A) by


(B) in


 (C) on


  (D) with
13. In such a severe economic situation, customers must pay careful attention ______ the scale and financial stability of the service providers that we choose.
(A) at


(B) for


 (C) upon

  (D) to
14. Prices in Bulgaria have been low for years, but this ______ change as the government tries to revive the economy.

(A) binds to 
(B) is bound to
 (C) is binding to  (D) bounds to
15. Brazil is sure to satisfy your surfing demands, ______ you customarily spend your days chasing the world's hottest waves, or are looking to take lessons for the first time.

(A) either

(B) neither

(C) whether

(D) whichever
16. Today many Maori people throughout New Zealand are actively ______ keeping their culture and language alive.

(A) to involve
(B) involving
(C) being involved
(D) involved with
17. It ______ two years to film the Lord of the Ring trilogy but millions of years to build the sets in New Zealand.

(A) cost


(B) spent

(C) took


(D) used
18. Licensed as an ale house since 1640, the Falcon Hotel’s atmosphere is still ______ of a friendly inn.

(A) this


(B) that


(C) these

(D) those
19. There are no special handicrafts associated with Barcelona, but you’ll have no trouble ______ typical Spanish goods anywhere in the town.

(A) find


(B) to find

(C) finding

(D) at finding
20. Oil is now Norway’s lifeblood, but fishing and timber still provide many Norwegians ______ a staple income.

(A) as


(B) in


(C) on


(D) with

III. 綜合測驗：請依以下短文的情境與文意選出最適當的答案。
（A）
Eco-tourism is more than a catch phrase for nature-loving travel and recreation. Eco-tourism is consecrated for preserving and sustaining the diversity of the world's natural and cultural environments. It accommodates and entertains visitors ___21___ that is minimally intrusive or destructive to the environment; it sustains and supports the native cultures in the locations it is operating in. Responsibility of both travelers and service ___22___ is the genuine meaning for eco-tourism. 

Eco-tourism also endeavors to encourage and support the diversity of local economies for which the ___23___ income is important. With support from tourists, local services and producers can compete with larger, foreign companies and local families can support themselves. Besides all these, the revenue produced from tourism helps and encourages governments to fund conservation projects and training programs. 

Saving the environment around you and preserving the natural luxuries and forest life, that's ___24___ eco-tourism is all about. Whether it's about a nature camp or organizing trekking trips towards the unspoilt and inaccessible regions, one should always keep in mind ___25___ create any mishap or disturbance in the life cycle of nature. 
21. (A) by the way

(B) in a way


(C) in the way


(D) on the way
22. (A) consumed


(B) consumers

(C) provided


(D) providers
23. (A) tourism-relating
(B) tourism-related

(C) tourism-relative
(D) tourism-relation
24. (A) how



(B) that



(C) what



(D) why
25. (A) no



(B) not 



(C) not to



(D) do not

（B）
Mexico is a place where dozens of national and regional celebrations ___26___ each year. Some of the most important dates have religious origins: The Day of the Dead, which falls on Nov. 2, keeps ___27___ a yearly tradition of adorning tombs and altars with candles and marigold flowers. As offerings to the deceased, families leave them their favorite food, photos and colorful paper crafts. It is believed ___28___ at night the dead return to the world of the living to spend time with their families. Another important time of year is Easter week, which is commemorated with Mass and processions embodying realism and suffering.

Mexico’s most important celebration is the ___29___ Cry of Independence on Sept. 15. In every main square throughout the nation, the festivities include dancing, mariachi music and spectacular firework shows. ___30___, the many carnivals and food festivals celebrated in different states across the country are events that bring families together, while at the same time they reflect the joy and spirit of the Mexican people.
26. (A) take place

 
(B) take the place

(C) makes place

(D) make place for
27. (A) life


 
(B) live




(C) living


 
(D) alive
28. (A) in



 
(B) when



(C) that



(D) how
29. (A) called


 
(B) named



(C) so-called

 
(D) so-named
30. (A) As a result


(B) Therefore

(C) What’s worse

(D) What’s more

（C）
Stephen Hawking has been severely disabled for the past 25 years.  He suffers from motor neurone disease, and is confined to a wheelchair, ___31___ he sits virtually inert.  Using two fingers of his left hand to operate a small remote control device, he calls up words on a computer screen ___32___ his chair, then "speaks" the sentence he forms through an electronic voice synthesiser.

His book, A Brief History of Time, has ___33___millions of copies worldwide and has been on the British bestseller lists for three years.  The book was Hawking's attempt to simplify for a mass audience the work he does, and many people were inspired by the idea of reading about the nature of time and the origins of the universe.  But ___34___ in the simplified form, his work is so abstract, complex and hard to grasp ___35___ many readers give up before they are halfway through.
31. (A) at which


(B) by which

(C) in which


(D) on which
32. (A) attaching to

(B) attached to

(C) being attaching to
(D) be attached to
33. (A) sold



(B) been sold

(C) been selling

(D) being sold
34. (A) even


 
(B) ever

(C) however


(D) forever
35. (A) how



(B) why 
(C) that


 
(D) so that
IV. 閱讀測驗：請閱讀以下短文後，依據文意選出最適當的答案。
(A) 
NEW YORK (MarketWatch) -- Taxpayers are downright furious over the bailouts that have characterized Washington-to-Wall Street policymaking for more than a year. Rather than stewing, though, they can help themselves and send a powerful message to the bailout chieftains by doing something simple: saving more.
It seems silly that saving, something so universally accepted as good financial sense, is out of style. But it is. 
The government is spending through a $787 billion stimulus bill. It encouraged us to spend our stimulus checks last year, and our tax refunds this year -- if we receive any. They want us to buy American cars, buy American homes and buy, buy, buy until we say goodbye the recession. 
The problem, of course, is that just like Wall Street, taxpayers have seen their wealth deteriorate. Banks have written down bad loan assets. Taxpayers have lost value in their homes and through 401(k), job and other economic losses. 
The only place to turn to spend our way out of the recession is our credit. 
For the government, that means the U. S. budget deficit is approaching $1 trillion through the middle of the fiscal year, a gap expected to hit $1.75 trillion by year's end, according to the Obama administration.
For Americans, living on credit typically means credit cards, a method of payment that is increasingly becoming a costly proposition. Interest rates on credit cards from major players, including American Express Co. (AXP:  20.46, +1.63, +8.7%) , Bank of America Corp. ([image: image1]BAC:  10.99, +1.44, +15.1%) and Citigroup Inc. (C:  3.79, +0.75, +24.7%) are rising. Loans are getting more costly with some short-term interest rates at 120%, according to The Wall Street Journal. 

36. According to this report, President Obama’s financial policy has made the American people feel very ______.
(A) angry



(B) disappointed



(C) pessimistic

(D) satisfied

37. This report indicates that Obama’s administration encourages the people ______.

(A) to borrow money
(B) not to borrow money

(C) to save money

(D) not to save money

38. By spending more and more money, the people find that their wealth is ______.
(A) bringing nothing useful
(B) getting worse and worse
(C) helpful to the country’s economic progress
(D) making their own life more and more convenient
39. This report implies that the U. S. budget deficit now is ______.
(A) acceptable

(B) insufficient
(C) reasonable

(D) terrible
40. Which statement is NOT TRUE?
(A) Some people may get their tax refunds this year.

(B) It’s difficult for the people to get loans from banks.

(C) Living on credit is the only satisfactory way of life.

(D) The interest rates on credit cards are getting higher.
(B) 
None of Europe’s many rivers is so redolent of history and legend as the Rhine. For the Romans, who established forts and colonies along its western banks, the Rhine was the frontier between civilization and the barbaric German tribes. Roman artifacts can be seen in museums throughout the region. The Romans also introduced viticulture – a legacy that survives in the countless vineyards along the riverbanks – and later, Christianity. Throughout the Middle Ages, the river’s importance as a trade artery made it the focus of sharp, often violent, conflict between princes, noblemen, and archbishops. Many of the picturesque castles that crown its banks were the homes of robber barons who held up passing ships and barges and exacted heavy tolls to finance even grander fortifications.

For poets and composers, the Rhine – or “Vather (Father) Rhine,” as the Germans call it – has been an endless source of inspiration. As legend has it, the Lorelei, a treacherous, craggy rock, was home to a beautiful and bewitching maiden who lured sailors to a watery grave. Wagner based four of his epic operas on the lives of the medieval Nibelungs, said to have inhabited the rocky banks. To travel the Rhine by boat, especially in autumn, when the rising mists enshrouded the castles high above, is to understand the place the river occupies in the German imagination.

The Rhine does not belong to German alone. Its 1,312 kilometer (820-mile) journey takes it from deep within the Alps through Switzerland and Germany, into The Netherlands, and out into the North Sea. But it is in Germany – especially the stretch between Mainz and Bonn known as the Middle Rhine – that the riverside scenery is most spectacular. This is the “typical” Rhine: a land of steep and thickly wooded hills, terraced vineyards, tiny villages hugging the shore, and a succession of brooding castles.

A nine-hour steamer trip between Mainz and Bonn will give you a taste of this fabled region. But in order to really experience it, you will need to spend several days in the area. A town such as Koblenz provides a convenient base for excursions up and down the river and into the lovely Moselle Valley.
41. For the Romans, the eastern banks of the Rhine suggested a world of ______.

(A) barbarians


(B) forts



(C) museums

 
(D) viticulture
42. In the Middle Ages, there were wars between princes, noblemen, and archbishops because of  ______.

(A) cultural conflict
(B) civil conflict



(C) economic conflict
(D) religious conflict
43. It is good to travel the Rhine by boat in autumn because of ______.

(A) the lower price

(B) the pleasant weather

(C) the rocky banks
(D) the mysterious atmosphere
44. The most spectacular part of the Rhine is in ______.

(A) the Alps


(B) Germany



(C) The Netherlands
(D) Switzerland
45. It is highly recommended that one stay at ______ and explore the “typical” Rhine for several days.

(A) Bonn


 
(B) Koblenz


(C) Mainz


 
(D) the Moselle Valley

(C)
The World Tourism Organization forecasts that international tourism will continue growing at the average annual rate of 4%. By 2020 Euroe will remain the most popular destination, but its share will drop from 60% in 1995 to 46%. Long-haul will grow slightly faster than intraregional travel and by 2020 its share will increase from 18% in 1995 to 24%.

With the advent of e-commerce, tourism products have become one of the most traded items on the internet. Tourism products and services have been made available through intermediaries, although tourism providers (hotels, airlines, etc.) can sell their services directly. This has put pressure on intermediaries from both on-line and traditional shops.

It has been suggested that there is a strong correlation between tourism expenditure per capita and the degree to which countries play in the global context, not only as a result of the important economic contribution of the tourism industry, but also as an indicator of the degree of confidence with which global citizens leverage the resources of the globe for the benefit of their local economies. This is why any projections of growth in tourism may serve as an indication of the relative influence that each country will exercise in the future.

Space tourism is expected to "take off" in the first quarter of the 21st century, although compared with traditional destinations the number of tourists in orbit will remain low until technologies such as a space elevator make space travel cheap.

Technological improvement is likely to make possible air-ship hotels, based either on solar-powered airplanes or large dirigibles. Underwater hotels, such as Hydropolis, expected to open in Dubai in 2006, will be built. On the ocean tourists will be welcomed by even larger cruise ships and perhaps floating cities.

Some futurists expect that movable hotel "pods" will be created that could be temporarily erected anywhere on the planet, where building a permanent resort would be unacceptable politically, economically or environmentally.
46. This short essay may well be entitled ______.

(A) European Tourism

(B) Space Tourism

(C) Future Tourism 

(D) The Importance of E-Commerce
47. According to the essay, which statement is NOT TRUE?

(A) Space tourism is something possible in the 21st century.


(B) Someday technological improvements will make space tourism cheap enough for most people. 
(C) Movable hotel “pods” will take the place of all permanent buildings.
(D) Tourism products have become popular on the internet because of the convenience of e-commerce.
48. In general this essay suggests that the prospects for international tourism are ______.

(A) pessimistic

 
(B) promising

(C) uncertain

 
 
(D) unpredictable
49. By 2020 the most visited place in the world will be ______.

(A) Europe


 
(B) space world


(C) movable hotel “pods”
(D) underwater hotels
50. What does the term “Long-haul” in the first paragraph mean?

(A) Expensive transportation.
(B) Luxurious travel.

(C) Transport over a long term.
(D) Transport over a long distance.
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